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Note. (i) Answer All the questions. ak waacademy.blogspot.com

Bx1=8
(i) Choose the most appropriate answer from
the option code and corresponding answaer, the given four alternatives and write

1. Crossing cver takes place in ......... the slage nrmhgis | Prophasa
a) Zygolene b) Pachylene ¢) Diplotene d)Diakinesis
2. Incell A the solute potential Is -5 , pressure potental 2 -
in cell B Ihe solute polential |s | -10 pressure polential B.
Ir; c:u :;.‘:: th; solute potential - 6 pressure polenlial 5 find the path of water across he rool cell
a Y b) A-B-C c) B-C-A Ld)C-B-A
3. Assertion : Cellulose is an monocsaccharides. a
HE;EI!E:I ]-CE‘.|L'.1CEE is notl bullt from repeated unils of g,ucnsﬂ MONoMmer.
~3) Both Assertion and reason are correct bj Assertion Is incorrect reason is correct
C) Assertion is correc! reason Is incormrect d) Both assertion and reason are Incorrect

4. The haploid number of chromoseme for an angiosperm is 28, the number of chromosome in
its endosperm would ke

a) B84 b) 56 c) 28 d) 14
5. Select the incorrectly matched pair

| Thyrsus - Ocimum

i, Umbel - Allum cepa -

i Spkelst -  Paddy _ —

v Polychasial cyme- Daucas carola (s AT
The two sub units of nbosames remain Uniled at critical jon level of..

&) Magnesium B) sodum c) lerrous d) Mn
7. Which are considered as “Biological puzzle”...
a) Fung b) wirus c) algae ‘d)bacleria
8. Which one of the following hormone involved in ripening of frults.
a) Ethylena b) auxin c} cylokinin d) ABA
SECTION -1l
ll. Answer any four of the following. 4x2=8

9. Define Bofting.
10. Whzt s meanl by Respiratory Quolient? .
11. Name the types of chromosomes besed on the position of centromere,
12.Mention the differant types of plasmolysis seen in plant cells.
13. What is virion? .
14 What is meant by Binomia! nomenclalure? Give example.
SECTION -1l j
ll. Answer any three questions. Question number 19 is compulsory. (/ .
15. Hame any two Agar yielding plant. !
16. Explain partial parasite with example. ==
17. Cifferenuate cyclic pholophosphorylation from non cyclic photophospharylation.
18.Compare Gymnosperm with Angiosperm. ' 2x5=10
18 Write the Staps involved in Gram Staining . |
SECTION - IV /
IV. Answer all the questions. F
20 (a) Write the physiological effects of cylokinins. {OR) {
{b) Explain the different types of fleshy fruils.
21. (a) Differentiate betweem Dicot stem & monocol stem. (OR)
(b) Write the schematic representation of kreb's cycle.
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SE
|. Choose the correct answor. akw;,ngaa’gjé!nyblﬂgspﬂtﬂﬂm

1. Which one of the following |s not
a) They are bilaterally sy?nmelrh::lcr:pr;:;cgg el
b} .In higher chordales natochord i:;.
£} In lerreslrial chordates functional
d) Hean is ventrally placed

2, Bu:mpharynrgeal respiration in frog

&} is incr
:i} is mm:ased when nostrits are closed b) Stops when lhere is pulmonary respiration
3. Assertion (A): oo IS catching fy 70) Btips whed mouth fs ooe
ason (R ] : Large inlestine (g also having villi like small intestin.
a) B (R) ; Absorption of water takes place In large intesting.
D Sin 4 o e e R e
(R) are true & (R) does i
c) (A) & (R} are falne et A

Bx1=A8

g ﬂrfAthmbmfnjum
; rEpresents diseases & 1
i m .1";?“““’“ ther symptoms. Choose the comectly paired option.
E]] Eﬂmﬁ:mm - I[:llllI EECLTI'I'fn'g of bronchitis
1 - u} Accumulation of

R) Prnel.l_muma _ = (iii) Allergy IS ishiokn
::.} E - (i), Q- i), R - (j) by P - (i), @- (i), R - (ii)

. - (ii}, @ - (i), R - (i) d) P-(ii), Q- ()R- (lil)
b';h:m 's nof correct for sponges?
8} Intemal fenilization b) Herma

_ phrodites

¢} Gemmule formatian d) External fertilization

§ MHenle's loop were absent from ' '
5 T e s fma?::mmmn nepharon, which one of the f::llrmlﬂng s to be expecled?

b) Thers will be hardly any chan . _
c) The unne will be mﬂr:f:nncegt:;:ﬁdm. qoaity & quantity of urine formed

gd) The urine will be more diluted - e
7. The abudant intracellular cation is
a) H b) K* £) Na* d)Ca**
8  Silk is cbtained from
a) Laccifer lacca b) Nosemabombeyis ¢) attacus ri ;
SECTION -1 o d)Attacus mylitta
ll. Answer any Four questions: 4x2=8

8. Compare Schizocoelom wilh enlerocoelom.
10. What are the components of blood of frog ?
11. Wrie the peculiar characters of Duck.
12. Wihat is the role of Charles Darwin in refation to f '
13. Lijst out the different types of WBC. e
14_Cpomment on Homeostasis.
SECTION - Ix3=3

. ﬁ;ﬁmr any three of the following questions. Question Number 19 Is compulsory, ¥
15. Differentiate white adipose tissue from brown adipose tissue
18. Write @ note on nitrogen narcosis, '
17. Draw [re structure of a nerve cell angd labe
18. Write te nutritive value of fish e perts,
18.Name (he layers of adernal cortex & mention their secrelion.
IV. Answer the Questions , =N 2x5=10
20.a) Write INE Characteristic features of Arthropoda,  (OR)

b) Describe j”'_ba structure of the humap, hean wllhlthe help of a diagram
21.a) Draw the diagram of L.S. of the eye ang label the parts (OR) |

b) Explain th* e cycle of Bombyx mori.
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